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33651112 [Uunpuhghjhutpjudnyubwppnt 1.2q W/t $; 54 hwwn 1500 * 100
33651112 (Udnpuhghihu+pjuynyutuppn625uq  hwp S Y4 hwuwn 300 * 300
33651112 |Uudnpupghihu+pjudnyutwppen 156 uUg-1004d] 2ohYy Qz hwuwn 1100 * 10
33651110 |Udwyhghtht 0.5 Wk J/d NI Q72 huwn 150 * 300
33651111 (Udopuhghihtt 0.5  phnwhwuwn Q. huin 50 * 300
33651116 [8Ldwmgniht 1q whk d/d P Q7 hwwn 200 * 300
33651141 [8tdnipopupd 750 Ug w/t  d/d Nl Qz hwuwn 1300 * 50
33651118 [8kdunphwpunt 1g W/t /U $ S Y4 hwuwn 180 * 700
33651118 [8kduphwpunt 0,5q W/t /d P Qz hwuwn 180 * 400
33651134 (Shypndnpuught  500Uq phnuwhwn Q7 hwwn 40 * 100
33651128 [Lhuipndnipmbnnnjht 50dqg  plinuwhuwn eV} hwwn 3 * 700
33651280 [Lhdnipnljumghy 100uq ntnuwhwin Q7 hwwn 20 * 120
33651280 [Lhdnipnljuughn 100U opwpuil Q7 wntth 2400 * 10
33651100 Nuijthwqupnifjh pjunwnn, pwodh wpdwnbbkp, hwqptdupnh Qs hutn 70 . 120

wbplhubp  pinwhwn /jwikdypniy




Utwpnuhnwugn |-p 5dg/d; 100.0

33691112 wnuh @z huwn 300 100
33691112 |Ukwupnuhpugn)  hbpuinguyht  dndhly 500uq QZz huwn 75 100
33651131 (Unidwdbpopuwqgn] + mphdGenwnhd 480Udg  nlinuwhuwn Qz hwuwn 15 250
33651131 iﬁfﬁflﬁgﬁﬂquﬁ wnphatipnwyphd  240uq/54d; 80Uy Qs i 1500 5
33691000 [Opunjhtt  2,5uUq/q; 10qg wnith Qz hwwn 250 5
33651170 [Ughynyhp puntlj 5% 5q wnuh Qz hwwn 300 5
33651150 [dyniyntwmgn; 150dq phnuuyuunj] 92 hwwn 170 40
33651148 [Ynuphudwqn; 100Uq dnuhl Qz huun 100 150
Luwnphnudh pinphn, Ywihnwdh pinphy, Yuighnudh
33691129 (pinphy 8,6Uq/Uj+0,3uUq/U +0,49Uq/d); 500 U] thwphkpe Qz huwn 300 600
|/ [thugkp/
Luwnphnudh pinphn, Ywihnwdh pinphy, Juighnudh
33691129 (pinphy 8,6uUq/Uj+0,3uUq/U)+0,49Uq/d); 250 Uj Qz huwn 144 400
thwpkp /*huqkp/
33691136 [Lwwnphnidh pinphy 0.9 % 5.0 upjuy S Y4 hwwn 50 600
33691136 [Lwwnphnidh pinpphy 0.9 % 500.0 thwphtp Qz hwun 300 500
33691136 [Lwwnphnidh pinphy 0.9 % 250.0 thwphtp S Y4 hwwn 144 500
33691138 [¥niynqu 10 % 100.0 thupkp Qz hwwn 400 60
33691138 [niynqu 5 % 250.0 thuphp Qz hwwn 250 800
33621160 [Udhunjuuypnuwppenr 5 % 250U thwphkp Qz huwn 600 5
33691134 [Uwhnwh pnphy 4 % 2004 thuphp Qz huwn 350 5
33620000 [Zhnpopuhteh; oyym 6% 500.0 thwpthpe Qz hwwn 2800 15
33621250 |thpumpwit 40 250U thuphtp Qz hwuwn 1000 10
Lwwinphnidh wghnwwn, twnphnwdh pinphy, juhnudh
33691136 E{Eﬁﬁﬁéﬂﬁ}ﬂﬁfﬁ%&Eﬁﬁ{iﬁ%‘éﬁ?&fﬁb ,36Uq/U+0,25uq| huan 550 40
/U] 500 U)/Pnun-Skp/ thwphkp
33620000 (Ujpnidhtt 10 % 100 uj b1 Q2 hwwn 14500 2
33691232 |[Lhukuntjhy thnoh 2q  thuphkp QZz huwn 100 60
33631281 |[Pupnutwniwughtt punily 100dq/q 40q wntth Qz huwn 250 5
33631281 |Pugnubwnwughtt Undhly 50uq Qz hwwn 80 60
33631310 [thyndkuwl 75udq 3.0 upjuly Qz hwn 100 350
33631310 [Hhyndkuwl 100Uq uUnuhy Qz hwwn 130 100
33631290 |Ppniypndku 400uUq ntnuwhwin Q2 hwuwn 50 300
33631310 [ThndLuwly 10Uq/q 30q wnnith Qz hwwn 200 5
33661121 [Ugtwnhjuwihghjuppent 500Ug nhnuwhuwn Q2 hwuwn 50 300
33661114 [dLuwnnwh;  0.005% 2.0 upuly Qz hwwn 400 40




33661000 |Mpndtgn; 2 % 1.0 upjuly Q2 hwwn 700 40
33661113 (Phnyhunw] twwnphnd 1.0 upjuly Qz hwuwn 2500 10
33661135 |Uhnugniud 15uq/3d]  ujul Q2 hunn 1400 20
33661111 (Yhwnmwdht  500uq 10d] upyuly S Y4 hwwn 1000 25
33631370 [Uwnpwlniphnidh phighjuwn  10dg/dy 5y upquly Q2 hwuwn 1600 10
33661136 [thwugqbywd 10dq 2.0 upqul Qz huwn 90 200
33661136 [Thuqtywd  5Sudg hwp Q2 hwwn 9 72
33631360 (Unitjuwdbpnuhmd 2% -5,0 upjuly Qz huwn 250 30
33691226 (Spwdwnn) 100Uq/2d; 2d]  updul Qz huwn 90 100
33661157 Eﬁg‘lrlhhh unypunn 0.1% 1.0 Q2 huitn 70 200
33621290 [Ewhukdpht 1.82 dg/d) - U] updul SY4 huwn 130 100
33661147 [Lknumhquhtt 0,05% 1d; S Y4 hwun 50 50
33661116 |Lhynywht 1% 20.0 upul Q2 hwwn 700 20
33661116 [Lhynwhl 2% 24y upjuly| 92 hwwn 25 50
33661170 [Mpnyught 0,5% 5,0 upyul Q2 hwn 50 200
33661115 (Pniyhyuluyhtt  WPW SPINAL 0.5% 4 ML HEAVY Qz hwwn 1200 100
33661110 [Pgndinipwt 99,9% 1004 Qz hwwn 12000 1
33661127 [Ukwnwdhgny 50% 2.0  upduy Qz huwn 40 700
33661125 |y nuthqny, whunndbunt, Phtghdbphthnd 56 updul *2 huan 150 50
33631430 [Yyuljtinwypndtt  25dq/d] 2d] upduly Qz hwwn 650 10
33631430 [thjuybnnypndtu  25Uq nhnuhwn Qz hwuwn 170 30
33611170 [pnunmwbphtt  20Ug/d) 24y upjuly Qz hwwn 70 200
33621540 |Muwwykpht 2 % 2.0 upjul Qz hwuwn 50 250
33621540 [NMwwwykpht 20Uq unuhly Qz hwwn 50 50
33691145 [Uwmqutighnid unydwwn 25% Sud;  upduy Qz hwuwn 50 300
33661122 [NMwpwugkwnwdn; 100Ugq Unuhly S Y4 huwn 70 500
33661122 [Mwpugkunwdn] opwpuwl 120Ugq/5d] 60U] wnuh Q2 hwuwn 380 50
33661122 [Mwpwugtwnwdn] 500uq nhnuwhwn Qz hun 5 300
33661122 |Mwpugkuniwudng 1% 100u; wnith S Y4 hwwn 2000 10
33671119 (Phpwudyne thuphkp Q7 hun 450 20
33661000 |Uutuptqn Unuply Q72 hwwn 90 150
33661000 |[*khd Unuhly Q’z hwun 220 36
33671130 [Yhdkubhnpudhtt  Yhdbkngpny 1% 1.0 upduy Qz hwuwn 30 700
33641413 |[Yhpuwdbuniugn 4dg/dp 1.0 upuy Qz hwwn 50 700
33671135 [Ywighnuwdh pinphn 10 % 5.0  upjuy Q2 hwwn 50 200
33611420 [Ywghnudh gpnijntwn 10 % 5.0 upjul Qz hwwn 80 50




33691202 [Enwdghjuwn 250Uq 2d] /nhghunt/  upduy Qz huwn 190 50
33691223 [Luypnwuphtt 0,3 U Q. huin 1900 25
33691223 |Eunpuhuywupht 0,4 Q72 hwwn 2500 5
33691236 [Lnpnyhpwdhtt 20Uq/d] 1d] updul Zumiypuunh/ Qz huwn 270 10
33691236 [Lnpnyphpwdhtt 20Uq phnuhwwn Zuniypuunh/ S Y4 hwuwn 60 40
33691236 [Ytuwuwnht 1dg phnuhuwn Qz hwwn 70 20
33691236 |Ukdwuwmht 1dg/d] 2d] upuy Qz hwwn 290 10
33691144 [Lunphnidh phnunyduwnn  30% 55U  upduy Qz huwn 40 20
33691213 ;Egiﬁﬁﬁﬁb hhh}ﬁgﬁpgf@mpﬂmlhh UwbipRukp Q2 hun 150 48
33611150 [Ukght $npunk 350000 gphnwhwwn Q’z hwwn 40 1000
33611000 (Y hgtphtt dndphlukp 2.11q unuhly Q2 huwn 150 30
33611000 (¥ hgtphtt dndhlukp 1q Unuhy Qz hwwn 150 60
33611000 [Fhuwlnph; Unuhy 10dq unuhly Q2 hwwn 35 500
33611000 (Phuwlngh; 5dq gphnuwhuwn Q’z hwwn 8 200
33611000 [Yhnudkljuhwn /Udtjnw/ 3q thwphlp Qz huwn 160 50
33611000 |dnudnyniqh] 16q thwpkp Q7 hwwn 150 40
33611100 I?éi‘;;l}llluﬂm 20uq Qs hun 15 30
33611120 Er‘}l‘fufl‘lumhl 20q qQz hurn 800 10
33600000 }}’Eﬁl}ﬂﬁh@h 25Uq/50ug Qz hunn 230 100
33611160 |Ukwnnlnuypnuhy 2.0 upjuy Qz hwuwn 70 100
33641100 [Opuhuinght 5U0U/d; 1.0 upquly Q2 hwun 130 1500
33641200 |Uhqnupnuuin 200 dg phEnwhwun Qz huwn 250 300
33641210 |[Uhbtyphunnnt 200dg  ghnwhwwn SY4 huwn 7000 9
33641330 [NPwupndbunwt 200dg nhnuwhuwwn Qz hwn 300 28
33641310 [Yhypnglunbpn 10dq ninuwhwwn S Y4 hun 250 600
33611341 [Ywjghnd 13 plnuwhwn Qz hwun 90 100
33611341 [Updw-wnnlndtpn; wmghinwmwnn  400dqg  ppwd Q2 hwuwn 30 60
33611341 (Uwmquk £6 500uUq+5uq nnwhwin Qz hwun 50 250
33691212 [hnudhti 450Ug htuwbtphnhtt 50U/ Yhwnpwtpu/ hwp Qz hwuwn 110 60
33621240 [8hwiljnpujuuht 200 dyq  upquy Qz hwwn 15 250
33611350 |Uulnpphtiwppnt 5% 2.0 upyuly Q72 hwwn 30 600
Jhunwdhtt £ hwdwihp (Jhuwdhtt Bl, Jhunwdhi B2,
33611341 q_Emuldbh B6, phpuwuwipkin), UhYnunptwdhn)  2dg/d)l 92 hwwn 180 100
2uy
33621100 [Zbkwwphuh punil 25 g wntth Qz hwuwn 650 5




33000000 [dhoululnt (hupdbunn  40q wnnuh Qz hwwn 300 10
33631200 [Lnpuudkuhyn)/dbwnphinipugh] puntly 40q wnuh Qz hwwn 950 5
33631170 [Skwipwughljhtt wsph puni 1% 3q wnih Qz hwuwn 600 20
33621150 |[dphundbuwughnt 2 dq 0.2 Uy upquy Qz hwwn 1300 500
33621100 [Spwukljuwd 50uq/u] 5u| upyuly Qz hwwn 1650 100
33621100 [Spwukjuwd 500uq hwp QZz huwn 350 100
33671123 |Funight, Ehinpht/ Ppnujunihnpht/ 125U wntth Qz huwn 600 10
33671125 [Udppnpuo] opwipull 100uy wntth Qz hwwn 700 20
33671125 |Udppnpuo; 30uq ntnwhwin Qz hwwn 20 100
33671136 |Unitjujunpt 50uq ntnuwhuwn Qz hwun 8 100
33671126 |Ppnuhbpuptt  8ug ntnuwhwin Q2 hwuwn 8 200
33671126 Ppnuhbpuhtt  4dq/5U; 1004y opwipuily Qs hurtn 900 5
wntth
33671113 [Uwypniinudn; 2dq  pghnuhwwn Qz hwn 15 200
33671113 (Uwjpninnudn) ZUwpninnudn] 4dg plinuhwn Qz hwwn 70 120
33671113 (Uwjpninnudn) /Uwpninnwdn] opwpull  2dg/5d] 125 Qz huwn 1200 5
33671113 (Uwjpninnudn] gnnughp 100Uljg/nnqu  200pnqu = wny| @2 hwwn 1000 10
33610000 [funjhuwy qbk; 10q wnnith Qz hwwn 2900 5
Lhanuyhtt (thnnyughtth hhnpnpinphn) , - gkwnhjwhphght
33661000 [( gtwhyyhphnhth pinphn)3,3dq/q+1dg/q, V4 hwwn 1500 3
10q gqk| /puygk)/ wnuh
33631281 [8twnphuhn, phiquynuhnidh pinphn/Ypuwmkly 0, 290, 0 92 hun 2000 15
33621340 [Undthtt twwphnud phugnunn  200dg/d] 1d] upquly Q’z hwwn 25 10
33671115 (Unydnjuddnljuhtt 100dg/d] 2d] upduy Q2 hwuwn 60 10
33641000 [Ppnunyphywnhih dkghjun 2.5dq nhnuwhuwwn Qz hwwn 120 60
Eppippodhgnijwibphwbun, - dhtnpupphunwy, wnubnuiha
33621300 wlwuntjuh iy /Ynpquyny/ 30U 2ohly +2 hun 150 15
33691133 [Lkpupldwl ¢nip 2U; upjuly Qz hwwn 30 400
33620000 (Quugkdku 15dq/d], 24 upquly Qqz huwn 300 50
Gpywph (111) hhnpopupnh b wnjhuwpnngh hudwihp
33621200 [50Uq/51], QZz hwwn 2500 5
100U
33621200 |ERUmPh (111D hhnpopuhnh b wnihuwyngh hunlwihp Qs hun 110 200
100 g Sudyny phnwhwwn
Epuph (111) hhygpopupnh b wnjhuwnngh hwdwihp
33621200 50uq/u, 24} Qz hwwn 750 100
33621200 Epuph unydwntwulnpphiwpent 320Ug/60uUq Qs hun 35 100

ntnuhwwn




33671116 [Ruhndbwnwugnih/Lughyht/ 0.025 % 10 U wntth Qz huwn 900 30
Lunppnth pinphn, YJuihnwdh pinphy, twinphnuh
33693000 [ghnipunn, wbynip qpnilng 3,5q+2,5q+2,9q+10q; Q2 hwuwn 300 200
/ kkhhnpnty  18.9q  thwphkp
33621750 [Lbdtinhyht nbhunwupy 20Uq phnuhwwn Qz huwn 45 200
33621490 |Utphipnyw 250Ug phnuwhwn Qz hwwn 40 100
33621590 [dnipnubihny 40uqg nhnuwhun Qz hwun 3 80
33671118 i};ﬁgﬂfblﬂpumghh , phipuwdbnwgnu /) npuwgkpu/ 10.0 Qs hutn 1900 20
33631230 [Mnypgnt jnn  100Uq/q 20q puntly wnith Qz hwun 200 15
33631230 [Mnyhynt jnn 10% Q2 1hwp 3000 20
33631230 [Mndhgnt jng 0,2 dndpy Qz hwwn 180 140
33631240 [&nphtpuhnhtt uyhpuuyhtt |ndnype 0,5% Qz 1hwp 1800 30
33631240 [Lnphtipuhnht gpuyhtt nwdnye 20% QZ 1hwnp 11000 5
33661117 [Yuunjujuninh pwtdp hwinml] 20dgq phnuhwn Q2 hwuwn 2 250
33691141 [@pYwbht puyni Qz hwwn 2800 60
33631270 |Unudwin Yubwy 1% 10U $  2ohl Q2 hwn 84 10
Zuljuukjuhy wnhubynhll b wpwnwhwihy dhongutpn/
33621641 Ulhnghtd 27 1 1. Smu Qz hwwn 22500 25
33621641 Zuljutkjuhy wbnhubynhl b whwnwhwihs Thongutpn/ Qs hutn 5300 10
Uuhnudly 1;. Snith
Zuljuukjuhy wnhubynhll b wpwnwhwihy dhongutpn/
33621641 Unippuithng ghwpnt 1 1. Snuth @2z hun 8000 30
33621641 éuﬂlulhhhlhé wlnhubywnhl] b whwwhwihs Thongutpn/ Qs wnnith 4000 5
qnujhpud
33621641 [Ubkphkt juuniwn thnoh QZ qpud 200 20
Zuljukjuhy winhubynhll b wpwnwhwihs dhongutpn/
24311530 Qnusuh whopuphry 3% 100 Uy b1 R b 95 =0
33631250 [Epwun; 96% Q2 1hwp 1100 25
33621641 [dnpuwiht 33% - Q’z 1hwun 1200 20
Pdojujumt uwppudnpniditkp b qnupshpukp
33141159 |Qtnung ny uwnbkpp; M Qz hwwn 15 10000
33141156 |[2tnung uwbphy N 7.5 Qz Onijq 100 500
33141156 |[Qtnung uwbkpp; N 6.5 Qz Onijq 100 300
33141142 [Lkpwpyhs 1.0 Qz hwwn 11 500
33141142 |[Lkpwpyhs 3.0 Qz hwn 11 4000
33141142 [Lkpwpyhs 5.0 Q7 Zun 11 4000
33141142 [Lkpwplhs 10.0 Qz Zwn 20 500
33141142 [Lkpwpyhs 20.0 Qz Zuwn 35 200



http://gnumner.am/am/category/87/1.html

33141145 [NAnuniuynnuyhtt whqquyugdwut wubnubtp 256 S Y4 hun 400 100
33141144 (Uuky 18 & Qz hwwn 8 2000
33141144 (Uutn 21 @ Q2 hwwn 8 1000
33141136 [QYwpbtwnnp $nh  12FR Qz hun 200 300
33141136 [Ywwnbtwunp W/t 18g Q2 hwwn 50 10
33141136 [Uuwnkunnp w/t 20g Qz hwwn 50 200
33141136 [Ywwnbtwunp W/t 229 S Y4 hwwn 50 400
33141136 [Uuwnbkunnp W/t 24g Qz hwwn 60 500
33141136 [Ywwnbkwnp u/k.269g S Y4 hwwn 50 100
33141136 [Mnpuiuyghtt kpulh junbntp(Umbilicale) Qz hwun 500 5
31221280 g?gxmprgldﬁh tp pofutpapuuit hudwgupgh Q2 hunn 400 50
33141136 Ulpbpulught phphothy 23g Qz hwwn 20 300
33141178 |Uhunbdw hudnighntt $pjwnpny Qz hwwn 40 1500
33141178 |Upwt thnputbpupidwut vwpp $hpupny Q’z hwwn 120 10
33141112 (Uwbknuuh 5*500 pnprhg Qz hwwn 120 300
33141112 (Uytnuuh 5*500 Yunphg Qz huwn 350 150
33141121 Eﬁg&?ﬂnzgd?nk}}q%mgﬁhsl e2 (5 METRIK) 75ud &wlnp Qs hun 300 144
33141121 tullllzlélrlll;liifnl_‘g dlllfln]]_-h/qz]}uél;r;hkhl e1 (4 METRIK) 90ud &wlnp Qs hwwn 300 144
33141121 ;{glLEIulh]an Jtngnun 270 (3,5 METRIK)Swlnn wuby Qs huwn 300 360
33121260 [Stuwwndhy  dwwywykh  UPP110S QZz huwn 5000 10
33141115 (Pdjulju pudpwl/ Pwdpwl 50q S Y4 hun 85 400
33141100 |FPuihuhy Qz huwn 5 2000
33141160 [Untngk; 250.0 Q7 Zwiwn 300 100
33141157 [Lownuph uwyp N23 Qz Zwn 14 100
33141157 [Lownwwph uwyp N24 S Y4 Zun 14 100
33140000 [Qtpuwswth  ulghluyht QZz huwn 350 20
33121180 [SnunUtinp  unmbkwnnulnwyny dwijuju Q2 huwn 3363 1
33141100 [lvnquiwl Akppkph Jugdut Qz hwwn 300 350
33141100 (¥juwpy pdojului Q. Zwin 8 600
33141100 [Lnpwbsth Adkntwpnpw Qz hwwn 30 500
33141100 |Ukyniuhy uvwdub pnynuny Q2 hwwn 2500 6
33141100 [Zkpwinguyht huybih Yniuynh nhwh, wuundwubk Q’z huwn 100 1000
33141100 ﬁiﬁﬁﬁﬂ huytih updup wpuh pupdwbng, Q2 huin 400 1000
33141100 [Cuwwuh quudwil thuynb suunty Qz hwwn 15 4000




33210000 [Znhnmipjnuip npngkint phup Q2 hwwn 50 150
33141100 [Munuuuplh wyhpdnpuwwnnp unbkphy QZz hwwn 400 300
31651200 [EUQ duwyuykt 30ud*50ud Qz hwn 600 60
33790000 |[Ewkunnpd  1.5U01 QZ hwn 6 1500
38431720 |Ywpnghlutph swjpuluyttp/ ntnht Qz hwuwn 2.98 4000
38431720 [Ywpnghlubph sduwypwluwjitp/ juwnywn Qz hwwn 5 500
38431700 [Ynwgniyndbwnph nitwnukp N500 Qz wnntth 42000 2
38431700 |Phnphthwlut Ynikwn. Qz hwwn 68 500
33790000 [Unwupjuyujut wwyuwlih N50 wnih Qz wnnith 500 30
33790000 (Unwpjuyujui wwulh 21hdnd N50 wntth Qz hwn 750 30
33790000 [Owsjuuywyh 24*50 Qz hwwn 10 500
33191310 [Pnpdwunp wjuwundwuk 104} Qz hwun 300 300
33191310 [Pnpdwnp 10U]. Uhotpny Qz hwuwn 300 200
33141143 |Ujuphdhjunnp Q2 huwn 4 3500
Sraizro [T MTauany P T ORI |2 | e | s :
42671120 [Crmunhy thnpdwbnpubph wjwunwuk 6 wnbnuing Qz hwwn 1000 1
38431720 [htwanipughntt junpnull N3 S Y4 hwwn 170 2
38431720 (huwnnipughnt junnnqul N3,5 Qz hwn 170 2
38431720 [huwnnipughnt junnnul N4 Qz hwwn 170 2
38431720 |huwnnipughnt punnnqul N7,5 (894 hwuwn 200 5
33151250 [Lugnquuunpw] qnun 10FR Qz hwun 50 10
33151250 [Lwgnquuwnpw) qnun 8FR (894 hwuwn 50 5
33141114 [Pwuqhy Junmpmibp 32q/U2 Q2 Ubwnp 115 2000
33141173 |(Uhquhwqup wuplj 2000d; Qz hwiwn 120 300
33141211 [Ukpnyuyqkp dwijulwi V4 hwwn 24000 1
33141183 |Ukpwlpdwl gnun 6 FR Qz hwiwn 200 10
33141183 |Ukpwlpdwt gqnuy 10 FR S Y4 hwn 200 2
33141140 (Upnwssdwut junbnp 8 FR Qz hun 300 30
33141140 |Upunwssdwb juwnbwnp 10 FR S Y4 hwn 300 3
33141140 [Upnwssdwt juwnbwnp 12 FR QZz huwn 300 2
33140000 [Mnpunwubtnuhy Qz hwwn 25 500
LhUDUYUL LSNPEG / jwpnpuuinp wjinnpnohs, whwnwhwing U w)] wuwpuquikp
33211130 gﬁ&;{uﬁﬁﬁﬁ}l p?lll-lbon |1__§TEROL /punhwunip junjkunhphth Qs Yoty 13800 3
e P O e s
33211150 Uhquiynip Urea-CO/dhquiyniph npnodwt phup- Qs Yoty 7600 7

hwjupwsdnr/




Uptwwhtuht Crea-Col /yptwwnhuhth npnodw phup-

33211160 huupuidni/ @z Unuyyg 6250 3
8nihynt/nhwgkiv/ wunh-A Zwpput judph 11 npnydwb

33211190 plup/104; Qz Ynuuyg 4500 3
8nihn/ntwgkiv/ wunh-B Zwpju pudph 111

33211200 npnotwl phup/10U] Y4 Ynuuy 4200 3

33211000 [8njhynt/ntughkinn/ wuwnh D 10U Qz nuuy 6500 4

33211000 [8njhljnu/nbwugkunn/ wuwnh- AB Qz Ynuug 5000 3

33211000 (lvdpuyhtt oh&nily AB (1V)/unupwgnighs/ Qz Uy 57.6 50
ON-Ywppnt RPR Carbon /updpihuh npnodwt phup-

33211230 hwiupwdnt/ 100pkup Qz wnntth 11750 12
8-ntwljnhy uwhwwynigh npnydwmb phup-

33211250 hwJwpwén/CPB  100phkup *2 Yol 8280 2

33211260 Ubuwnhunpbywunihght -O npnodwt phup hwjupwusnt Qs Yoty 10000 1
100ptup

33211240 g}élf;lmnhq dwljinnp RF npnodwit plup hwjwpwént 100 Qs Yy 8000 1

33211270 [Cunhwinip  uwhwwlnig 4*1204; Qz Ynuduyg 7450 1

33211300 |Ywjghnith npnydwl phup-hwjwupwédnt Qz Ynuuy 9450 1

33211310 |[Ppnupnyuunhith /ypnppnuphtughtt dwdwbwly/npnodwl| 2 H 3500 40
wput whwjhgh wqpuiymptp (bwugbknubp) /ULS

33210000 npnodwtt phup hwjuwpwdént  2*60 uj *2 ndug 7590 3

33210000 |wput wbwihqh wqpuiyniptp (pbwghbnibtp)/Upnwdht Q2 Ynuuy 7450 1
npnodwtt phup hwjwpwdént 4*100up
wpyul whwjhgh wqpuiympbp (bwugbkunubp)/0US

33210000 npnpdwtt plup hwjupwént 2 * 60 *2 Yol 7590 3

33210000 [wpjut wbwhgh wqpuiynmpbkp Q2 LRUIHE 49000 1
( nkwigktinikp)/bhpphingkt npnouwh phup hwdupwént

33211350 [zZbkungnphtt  npnpdwt phup hwjwpwdnt  5000d] Qz ynuuy 12000 2

33211120 |qyniynquyh npnpdwb phup hwjwpwsdnt @z Ynuyyg 9100 4

Zhyuwwnhwn £ Jhpniuh wbnhqgbih npujului
33211320 hwjntwpbpdwt ptup hwjwupwsn/HBsSAg/ *2 hun 280 1,000
Zkyunhwn C Jhpniuh wbwnhqbih npuljuljut

33211320 huwjynuwpbpdwt phup hwjupwsdnr/ *2 huan 250 200

33210000 wpul whwjhgh wqpuiynmptp (hwughknubp)/ Qs L 2880 5
wqnuuljul ppnt

33210000 jupnpnunp wqpuigniplp (phwgbunutp)/ wqnip-tnght *2 L 9800 2

33210000 Y4 L 50000 0.4

jwpnpnunp wqpuigniplp (etwgbunttp)/hdtpuhnt jnig




33210000 [8hwnnghwlwb unuhtd 100U} Qz hwuwn 5500 2
33210000 [Rupny Q’z L 1800 1
33210000 |EA 50 reagent pap 3B QZ L 10500 1
33210000 |OG reagent pap 2A Q2 L 13000 1
33210000 |Hemat oxyl i n pap 1A QZ L 13000 1
33210000 whinnpnodwl wymptp/ Ulne sk qniyndbunph phup- Qs huwtn 5000 1
unphuy
33210000 (Ukqh dnphljukp 11 wwpuwdbwnpng /100 hwwn/ Qz wnntth 9500 1
ounusNkE3NkLLEN
64110000 [Pnuwnwhtt Swpwynipnil U npud 20, 000 1
64211100 [hkpwjinuwluuyh Swpuynipnih Uu npud 500, 000 1
65111100 [judlnt oph pwolunid Z9pudwunwlwpupnid, 9pwhnugn| UG npud 250, 000 1
65211100 [Fwqh puojund 7/ uwywuwplnul/ Ul npud 2, 500, 000 1
65310000 |ElEjupuljuinipyub pupjunud Uu npud 1, 500, 000 1
90511100 |Unph hwjwpdwb dwnuynipjnih Uu npud 350, 000 1

puyudkup
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